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Choose the word nearest in meaning to the underlined words.

We should not throw away plastic bags. We should find out ways to use them in different forms to
make different things from them

(A) recycle (B) return (C) refine (D) reform

12 28 ALsAlA Al Baris HoreL sl

1. We have a tall tree in Dang too.

2. Amit was in Assam.,

3. We will enjoy the trekking,

4. Oh yes, our Kaziranga is famous for one-horned rhino.
5. Yes we have a lion sanctuary.

A)1,2,3,4,5 (B)4,5,3,1,2
(©)3,1,5,4,2 Dy 2,1,5.4,3
I hope you are coming for picnic, ...........crue......

(A)areyou? (B) aren’tyou ? (C) willyou ? (D) you are.
..................... are you going to the zoo ?
(A) Where (B) When (C) What (D) Whose
Kanhaiyalal Munshi wrote ...............ccc........ .
(A) Lopamudra (B) Patan ni Prabhuta
(C) Prithvi Vallabh ' (D) All of the above
Select the correct spelling.
(A) science (B) since ' (C) saince (D) since
The sky is very cloudy. It ..................... today.
(A) should not rain (B) may rain (C) may not rain (D) rains
How many weeks.................... there ina year ?
(A)am (B)is (C)do (D) are
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